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a) 3ab —6ac = 3a(b—2c)

c) x?

—x=x(x—-1)
e) x2+x—6=(x—2)(x+3)

g) 3x2—18x +27 = 3(x — 3)?

i) 25x2 —4 = (5x —2)(5x +2)

k) x*+x=x(x+1D)x2—x+1)

b) 2a*b —ab* = ab(2a — b)
d) (@+b)x—(a+b)y=(a+b)(x—y)
f) x2—7x +10 = (x —2)(x —5)
h) x2—1lxy + 24y = (x —3y)(x — 8y)
j) X3 4+8=(x+2)(x?2 —2x +4)
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f(x)=x3-3x+1&T2.
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f2)=22-3x2+1=8—6+1=3.
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a) FROTEBZEFALT, f(x) = x3 —3x2 + 4 BRDRTE S lc EEDRDERD K.

I x-—1 2) x-—2
f)y=1-3+4=2 RO =2 f2)=8—12+4=0 ..5RD=0
3) x+1 4) x+2
f(-l)=—=1-344=0 - HD=0 f(=2)=-8—124+4=-16 .. &D=-16

b) x—1. x=2, x+1, x+2D55x3-3x2 + 4 DEHIIEOTLDBDEREN,
x—2&x+1

o) x3—3x? +4 ZRHHBEL.
W -3x244Fx—2&E x+ 1 TEODENDDS, (x—2)(x + 1) = x2 —x — 2 TEIDEND.
TIT, P =32 4+4%E x> —x-2THDE, BlEx—-2 LEHOT,

X332 44 =2 —x-D(x -2 =(x+Dx—-2)(x—2) = (x + )(x —2)?

5] P(x)=x3—x2-5x-3&93.

a) P(—1) ZEtBEL.
P =13 -(-1)2=-5x(-1)-3=—-1—-14+5-3=0.
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P(x) = (x —=3)(x + 1)?
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